


Question 1

Write as a single fraction in its simplest form.

x €+ 3
- -1)(x+1)=-2x3 2x—1_ 2%
=(23¢-1) e 3]
3(x+1) a
= 2ntyax-%-1-6 _ 20 +2%-3
= 200 +2%-2%-1 s AP~
3+ 3Cx+1)
Question 2
Simplify. 2 g
%re Swe 4 [4]
( ,yq/) (x+4) _ x4
O— /
cM) co¢+ () o4\
Question 3
Write as a single fraction in its simplest form. =
xax -5 x X+2
3 4
X g 2x-5 [3]
= 6X-15_-4yx -8 = ax - 23
(x+2)(22-5) (%+2)(2%-5)
Question 4
(a) Write as a single fraction in its simplest form. 2
SN L o
25 1 x+2 [3]
= 3% +6-2%+|
Cax-)) (%€ +2)
(b) Simplify. = o€+ 1
2. —_—
i (2211 (%+2)

2
4% (x-4) _gu(x4) | 2%
2 (x4 3%-28) 2 (ma)(gﬂ’f (x+3)
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Question 5

Write as a single fraction, in its simplest form. [4]
x3 xaX%

X 2
4x +9 4 18 +12X

6x

a
162 + 189%¢ +9
cx

Question 6

Write as a single fraction in its simplest form.

2 __2
x+1 (3]

waa-3h —

x(x+) 2O

Question 7
Solve the equation.
xx+! x 2%
3 1 (3]
2% x40
x+d + 2% _o
T2 (X))
¢x+3 =0
éx =-3
Question 8 %X = ’-;:
Simplify.
xX2+6x-7 (4]
3x +21

CasF)R=1), -1

Y% 2 s
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Question 9

(a) Factorise  x*+ x —30.

(X469 (%X=-5)

(b) Simplify (.\.\I-: +51(.-\‘ :(?) '
C (¢ +4) = X+4Y
Ms - —

(x+67(x-5) X +6

Question 10

Write as a single fraction in its simplest form.
xX+2
% 96+3
2 3
+
Xt ar— X2

- an+4 + 3%+9
T (x+3) (2 +2)

= ex +13
(2% +3)(%+2)

Write as a single fraction in its simplest form. |
X9+

Question 1

%X+ 3

x-3 x+

;txnu 39'-*\(-/‘"’" 3"'"’*"&

X- lx x-3

(-3)CX+I)

8%
(oc-3)C €+

Question 2

Write the following as a single fraction in its simplest form.

x4 X3«

X+ 2_ 2x:=1 "
3 4

1

~27% + 23
Y +8 -6+ 3+12 . ,"

12
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Question 3

Simplify the following. /12 h-

2_»7s5
(bxf/ch+q) . _h+d
(/S/) ch+62 h+5

Question 4
Simplify fully.
X2 =x-20
3-10x2+25x
(x-57(x+4)

o C o~ 102 + 252
B} cx/()c'x.m) Al

f % (%-S)
Question 5 % C’)&/{) (x-5)
Write as a single fraction in its simplest form.
:"Mq x 0+\0
x+10  x+4

+2
= 3X412-2-10 . 2% c

(% +10dCx+4) (%4107
- g(x,-\-l)

o A+4)

Question 6 (100 ¢

Write the following as a single fraction in its simplest form.

X+ X

x+5 X+1

92/+9.'x.+\ ry 5%

R4SHCx+H)

a -=3%+|
e

g (0 452CX+)

(5]

(3]
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Question 7 42

x% -
x X2
Write + as a single fraction.
Xx-2 x+2
Give your answer in its simplest form. [3]

x4+ +3%-6 _ 5%-2
R-X+2)  (A-2IN+2)

Question 8
Write as a single fraction in its simplest form.
x2 x] % 9%C
x 2x 2

Question 9
Simplify this fraction. =R _coa o
x2-4

[4]
(x-3) (W

Question 10
Write as a single fraction, in its simplest form. -1
3 x X+
- £ 3]
x+2 x—1

-4
= IN-3 -2%-Y =_—L_-
3|,+1')(%"')

T +22C%-1) ¢
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Question 1

x% XY
(a) Write ~— —— as a single fraction in its lowest terms. [2]
y x
% -4y
(b) Write in its lowest terms. [3]
2e OO0t1 &
3 CGon) 3
Question 2
Write as a single fraction in its simplest form [2]
X2 X3
X Xx-
3 2
23¢ + d%-3
2 92%-3
6 e
Question 3

Write as a single fraction in its simplest form
X%-3 X 2x+43
23

2x+3
A -12 ~Ak-6
(2%+3>Cx-3)
— I

2t~ 39¢¢q

[}

uestion 4
Q X6 X x\
Simplif X 5x_5x
implify 3 + 9 18-

63+ 102e-53%  |lye
\s s
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Question 5

Write as a fraction in its simplest form
Ax-3 x4
X= 4
4 'x-3° [3]

22— 6%+ 16

“A3e-\2
= DC’— €x+25
Question 6 Arx—2
Write as a single fraction in its simplest form
X-€l X3¢
2 g S [2]
X X+
B5%+5-4% _ %+5
% Cx+t) A2
Question 7
Simplify X ] +2 X 2¢
X+2 X
X X+2
Write your answer as a fraction in its simplest form. [3]
A 44 -
e AN 44~ 2% - Aoeadt
9%¢ C 1) S 4325,
Question 8
XX+ lz R 32
(a) Write i‘ \_; l as a single fraction in its simplest torm. [3]
3x 4+ 3 -2y % <3
3 Cix+t) e
X%+l x9¢
; 3.2 _ [1]
(b) Solve theequation  — =0.
x x+tl
39+ 3 =29
x Cxw)  °° The Maths Society
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Question 9
Work out as a single fraction
x 3%
x=-3 - x+4 [3]

2% +F ~ et e+l
(e+20Cx+4) 32 Axaa

1’<3(-3

Question 10
XS-2
Write _2_\751#.‘\ as a single fraction. (2]
] -
105¢ - 337 - Kz 25 %
% — 2
—_— 5 S ov 2
= x—9 5-3
Question 1

Write as a single fraction in its simplest form. 20x-3)
C %+ RECX= k.
x 3Cx+3) Y X€%=8Icxt3 )

3
o } - + 7
x=13 " xl 2

10 +30 + 6x~% 4 % +4%~2]
(3¢ =2 2C 2«7 dCay

52+ 10% +4)

a
2
2 st 4 ¥ ~42
Question 2
Write as a single fraction in its simplest form. x¢ X%

x+1_y-1 (3]

;ng-(-g —%-kﬁc

ey
x Yy

iy

v
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Question 3

Write as a single fraction in its simplest form.

1 [3]
@ - =
x°-9
x C ';/5) %
g),r.»é XCXA~+3) O3
Xd%+5  xx3-4
3 2
® =t n+s [3]
6%x+'5+ -3 _ ee+T
T (-4)Ca 9,2
Question 4
Simplify. Ly (2]
2
HY C o+ 0 %ty
o 2 Yy >y
Question 5
xt
Wirite as a single fraction. xp'bl ~p ’<P 2]
_‘. p I -
p‘\L: -2t -3
Question 6
Simplify. 42np - Tn
12pt= 2t +18mp - 3m [4]

Fn C6p-1) _ QGp/) - T
at C6p—l)+5m(6p -1 B‘\’ _‘.5,,)(69,43 At +3m
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Question 7

Simplify.
4 +10w [4]
8 - 50w?
2C2+5w ) _ e 5o _ (
- P —
2C4-2548) (-503cHSw) -0
Question 8
Write as a single fraction in its simplest form [3]
t+2
dos T
31-5—t-2
2t -5
t-
Question 9
Write as a single fraction, in its simplest form.
-X_2+X
X B 1-2x (4]
2

| - 3¢ « 22 ~22 —2% %
2l —23% )
- m;la—‘53¢"‘

—

—

2 —
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